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: 4#“& function f whose graph is given, state the value of
| <zach quannity, if it exists. If it does not exist, explain why.
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8. Sketch the graph of the following function and usc it to
- determine the values of a for which lim, ., f(x) exists: \\
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Panel 12

L In the theory of relativity, the Lorentz contraction formula

— L L|:\II v “"‘("

| expresses the length L of an object as a function of its

L velocity v with respect to an observer, where L, is the

— length of the object at rest and ¢ is the speed of light. Find
— lim,—- L and interpret the result. Why is a left-hand limit
I necessary?
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